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Favorite Numbers...  What's Sheldon's???
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WHY WE CAN'T DIVIDE BY ZERO...
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Graphing Linear Functions

Method #1 ­ Table of Values (must have at least 3 points)

ex:  3x ­ 6y + 18 = 0

x y

Method #2 ­ Using the slope/y intercept form of the equation

•   put equation in the form...
     
y = mx + b

•   plot the y intercept
•   use slope = Rise 
                        Run
      to plot other points.

ex:  3x ­ 2y = ­4

NOTES ­ Graphing Linear Relationships.docx
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Method #3 ­ Using x / y intercepts

ex:  x ­ 5y ­ 10 = 0
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HOMEWORK...

Puzzle Worksheet ­ Graphing Lines.docx
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Method #3 - Using x / y intercepts

ex: x-5y-10=0
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Graphing Linear Functions

Method #1 - Table of Values (must have at least 3 points)

ex: 3x-6y+18=0

X y

Method #2 - Using the slope/y intercept form of the equation
e put equation in the form.
y=mx+b
e plot the y intercept
e use slope = Rise
Run

to plot other points.

ex: 3x-2y=-4
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Why Did the Cow Want a Divorce?

Graph each equation below. The graph, if extended, will cross a letter. Look for this letter in
the string of letters near the bottom of the page and CROSS IT OUT each time it appears.
When you finish, write the remaining letters in the rectangle at the bottom of the page.
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Answer:

158 © 1989 Creative Publications OBJECTIVE 5-m: To graph a line given its equation (includes vertical lines).
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Why Does a Poor Man Drink Coffee ?

Use the slope and y-intercept to graph each equation below. The graph, if extended, will
cross a letter. Print this letter in each box that contains the number of that exercise.

() -3x+2y=2 (@) x-4y=38 () x+y=-3
¥4 Y

Y
F
L W
X X
> \
& D
| d 1]
R U s
(@) 2x+3y=¢ G) 3x-y=1 (6) -3 -sy=10
y y [ 1] yiT ]
H |
;
] G | Ix]
X | |
- T
A K |
| Lli i FREEEFE R
E N B
@) ax+3y=0 () 2x-2y+5=0 (@ y-3=0
Y | y Y
P
L
M U
| | ix 1 i X
| | |x D
&l
T c
sle|of4fals|afel1f2fofa[1[7]s]4]
)

OBJECTIVE 5-I: To graph a line given its equation (excludes vertical lines).  © 1989 Creative Publications 157
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